MO G g rages: 0f

SEAT No., _ o -
6577 ' SARDAR PATEL UNIVERSITY
T S.Y.B.Com, External, Examination.
Eng Saturday, Date :17" July 2021

Session: Evening ,Time: 02:00 P.M. to 04:00 P.M.
Subject/ Course Code:ACC:202
Subject/ Course Title:Accountancy-II

Total Weightage/Marks: 70

Note:Figures to the right indicates full marks of the question.

Que. 1. The balance sheet of Rahi Co. Ltd. on 31-3-2019 is under: (17

Liabilities Amt.Rs, Assets AmtRs,
Equity share capital of Rs. 16 | 9,060,000 | Fixed Assets 196,06,000
each, paid up amount Rs. 9 per
share
12% redeemable pref, Share 4,080,000 | Investments 2,00,000

capital of Rs. 10 each, paid up
amount Rs. 8 per share.

14% redeemable pref. share 3,00,000 | Bank Balance 5,00,600
capital of Rs. 10 each fully paid.
General Reserve 15,00,000 } Other current Assets 8,00,000
Profit & Loss Account 50,000
Security Premium _ 50,000
Creditors: _ 1 2,00,000

| - 34,006,000 34,006,000

It was decided to redeem 12% Redeemable preference shares at a premium of 10%
and 14% redeemable preference shares at a premium of 5% on the daie of balance sheet,
after complying with necessary provisions of companies Act. Investment were sold at Rs.
1,50,000. Now, bank balance to be maintained in the business is Rs.-50,000. For this purpose

15% cumulative preference shares were issued Rs. 100 each at a premium of 10% in adequate
number,

Afterwards on the same date one bonus share for two equity shares held to be given
and bonus was declared for converting partly paid-up equity shares in to fully paid shares.

Write journal entries in the books of the company and prepare new balance sheet.

OR
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Que.l. (A). Describe: Types of Debentures. ‘ _ , (07)'-
Que.l.(B).  On 1-4-2015, Ram Ltd. issued 40,000 debentures of Rs. 100 eachata  (10)

discount of 6% repayable by annual drawings of Rs. 8,00,000. Show the Discount Accounts
in the ledger book of the Company.

Que. 2. Prepare Balance Sheet of a Company in accordance with companies Act (18)

in a Vertical forms with imaginary figures.

OR
Que. 2. You have been supplied financial information for the Shiv Ltd. 7 (18)
Balance Sheet as on 31-03-2019. :
Liabilities Amount Assets ‘Amount
{Rs.) (Rs.)
Equity Shares Capital | 20,00,000 | Land Building 19,00,000
(Rs. 10 each)
12% Preference Sharc | 6,00,000 | Machineries 6,00,000
capital
Retained Earnings 3,00,000 | Furnsture 50,000
15% Debentures 6,00,000 | Stock 7,50,000
Creditors 5,00,000 | Debtors -6,00,000
Bilis Payables 80,000 Cash at bank 1,50,000
Unpaid Expenses 23,000 Other current assets 1,00,000
Bank Overdraft 1,060,000 | Preliniinary 50,000
expenses :
42.00,000 42.00,000

Statement of Profit for the year ended on 315 March, 2019:
Particulars Rs

Total Sales(90% credit) 48,00,600
Less: Cost of goods sold: Rs. 28,80,000
Operating expenses: Rs. 7,80,000 36,060,000
Net Profit Before Tax: - 11,40,000
Less: 50% Tax ) 5,70,000
Net Profit After Tax 5,70,000

Stock at the beginning of the year was Rs. 5,50,000
Calculate : (1) Current Ratio (2) Stock Turnover




(3) Debtors Ratio (360 days) (4) Debt-Equity Ratio

(5) Proprietary Ratio - (6) Net Profit Ratio

(7) Return on Shareholder,s Funds.(8) Gross Profit Ratio.

Que. 3. Explain; ‘

(1) Comparative Statement Analysis, 09)
(2) Depreciation Accounting. (AS-6) (08)
OR
Que. 3 . Write Short Note: ‘
(1) Objective of Financial Statements. (09)
(2} Valuation of Inventories. (AS-2) (08)
Que. 4.The Balance Sheet of Vishnu Ltd. as on 31-3-2019 is as under: (18)
Liabilities Rs, Assets Rs.
| Equity Shares of Rs. 10 each fully | 5,00,000 | Land and Building 10,00,000
paid
10% Preference Shares of Rs. 10 | 5,00,000 Machinery 6,00,000
each
General Reserve 4,00,000 Fumifure 1,80,000
Dividend Equalisation Fund 1,00,000 | 10% Govt, tax free 90,000
securities (Face value
Rs. 1,00,000)
Debenture Redemption Fund 1,00,000' 10%.Debenturc 1,00,000
Redemption Fund
investment
Worker Profit Sharing Fund 1,50,000 ; Stock 2,00,000
Workmens’ Compensation Fund | 50,000 Debtors 1,00,000
12% Debem;‘n‘efs ' _Z,GB;OCG “CaslhrBalance 20,000
Creditors 2,50,000 | Preliminary expenses 2,10,000
Depreciation Fund:
Land & Building 1,50,000
Furniture 50,000
Machinery 50,600
25,00,000 25,00,000
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Additional Information: .

(1) The market value of Land & Buiiding is Rs. 15,00,000.

(2) The market price of the Machinery is Rs. 5,00,000.

(3) Market value of 50% stock is 10% less.

(4) The expected rate of return is 10%.

(5) The Profit for the last three years are as under (before 50% tax):

Year Profit (Rs.)
2016-17 4,00,000
2017-18 5,50,000
2018-19 7,60,000

Caleulate the value of Goodwill on the basis of five years’ purchase of Super Profit.

OR
Que. 4. (A).  What are the factors affecting in valuation of Goodwill? Discuss. (09)
(B). Explain: Need for Valuation of Shares and Methods of Valuation (09}

of shares.
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